5 53 B 2F# A R
2 A N

BRAE D #24 RE A1

b= F#
AN
112/7/13-16



WA LAE T RE AL

¥ 53 5 2 i R

AT A RN - Fi

g GGRr #0) WMoy [JE6

i 5-0

fhd | kR | RFHE [ SFRE [ G4 | #AE | RERP | #E [ altd
B % BEE | 184
# 4 Hi 4
C# 5D | Ca# 5-2) | (##5-3) | (54 | CH# 55 | C4#5-6) | C# 5-6) | (it 5D
cELTR | EL m m m m m m m
(221 | % Oz Oz Oz g Oz Oz Wk
eay i | EL s m s e L 0L m
AT Oz m: Oz m: m: m: m: Wk

PHEF L

D
T

&k 112/5/15




R PRE EET R A (14

LTS SR RN

5 53 B 2 RENLHE

%

i 51

B8 2 2+ # ox W ER
- . LHE R &
E - e Al
Ery
B
1 [ A (8 X %) 650%32.5x32.5mm 3+ 4
2 | HEA(T S X BT K HE) [600x32.5%32.5mm Fd
3 | EA(ZEFE) 650x32.5x24.5mm * 1
iR i
1200 ¥ £ pk 10mm L
4 |gadE(z ) 1200x320x19mm B 2 A kL
~ JF B 445 7
350 87 10mm L=
S 350%280x19mm 2| 1 bEraspilogma
el RPN 1]
6 |BiaE(F ) 600x600x8mm 5 1 |3 %R RAE Y
7 [# A (G atiE e ig) 420x21.5x105mm | = | 4
8 | s Rl 160%80x2tmm 2 3 |H113x%
=4
9 |daaE(MF) 720x150x19mm 0 RS
10 | b= A (FF 47 pbif) 720x50.5x21.5mm Fd 1
11 [ L= A (45 REiE) 600%x21.5x10.5mm e 2
e a1 LSRR R B A
12 | 7 (PP 4= 35 - pbAF) 330x150x0.5mm 5 4 L ou
3
13 | L A (F e i7) 500x85x21.5mm 5 2 [8t133%
14 | A (3 e BlHF) 600x115x12.5mm 5 1
15 | HEA (30 e w0 15 4F) 680x71x12.5mm 5 1
16 | &4 (3 e &) 200x300x4.5mme »)| 1 [P RELERAE S
17 | L= A R +) 600x20x20mm Ee 1
i B4 R
18 |A 4 @ 8x30mm Fd g |Mi#
19 |+ 4% % /Lamello 4% % #10 54x20x4mm 7 24 |87 R
20 |TEdda 50x20x5mm 0 2 |Aihser




21 |Rds A 0 12x15mm g | 2
22 |~ L} 47 (screws) @35x38mm (1127 * | 8
23 |4 LR 4 (screws) p3.5X32mm (1147 + [ 6 [k
24 | 1 g (screws) B 3X20mm (4/3") 1|8 |[BEAEETE
25 |9 % 250g W | 1
26 | 5 #120 #240 £ | 1
=
S LB AHALL LR F A S G LB MR SN D o TR ARG AHE

241 g R L o




K & 5-2

¥ 53 E 2 R RE

BEHEL (145)

I L4 2 B8 A2 i
I P Lo R 2 ¢ 4 | H o &k E =
HroE
1 | A (R (S X %) 600x32x32mm e 4
2 Lt A S X T K [566x32x32mm %
3 | EA(ZERER) 300x32x24mm 2 2
e
4 goadE (v B4F) 400x300x19mm N 4 io?;, iﬁi gﬂ;ﬁ e
5 |4 (Y 1) 350x280x19mm O I T v el A
6 [#al(* ) 570x550x8mm 7 1 [PambsgAgy
7 [P A (FaEE T REE) 400x21x10mm e 4
8 |LEiAE brba) 160x83x21mm o 3
1=
9 |gkiadE(r ) 348x140x19mm o 2 B E RS ERAESY
10 |1 A (P 47 BEE) 348x50x21mm Fd 2
11 L A (R 4F pEE) 600x21x10mm d 2
12 |59 (P e 3 ) 330x150%0.5mm N i RAxFRAR 2
R
13 | A (d A E) 310x70x21mm 5 1
14 | A (3 Fe B1HF) 280x115x12mm 7 2
15 |l A (G0 e 1 9R) 300x70x12mm 5 2
16 | %47 (3 e A7) 160x280x4.5mm(2 ~) | % 1 [FeRLERAES
17 [ A (0 e if A) 280x20x20mm £ 2
e R
18 | &4 @ 8x30mm Fd 8 g
19 [~ 4E % /Lamello 4t % #10 54x20x4mm 7 24 |, HRAF
20 |TiF4usa 50x20x5mm 7 2 i A R 4
21  |BdBF A @ 12x15mm R 2 ﬁﬁﬁ
22 |+ 47 (screws) @3.5X38mm (11/2”) | % 8




23 |~ 4% 47 (screws) @3.5X32mm (1 1/4”) | %
24 | ¥ 4 (screws) @ 3X20mm (4/3”) e
AR 250g 3
26 |73 A #120, #240 5k
L 2L
v ¥

WP LE AHE S LS A Rk S F AR HE BV B TR BR < A FHE

2FH R RAE R A o




¥ 53

B > R

wF

KAEEFL (L 2)

i+ 5-3

Z%ﬁ\gvﬁlﬁflr

4.7 % P 3k
r_"ﬁro

AR

‘E v "iT,ﬁ.gqu)\ﬁL‘:!Kl%
IWHEFITHE T [ /F‘J-é’# AAL o, g

EEGpHRERY L

/? é}’a 'ffi
iTPR ~

R o

X rEE~Fr>RE-BENA

3
RO L4 BB *LEsLE
SN EU B - & oK 2R A H = |#& & % T

1 g @ 300= & 5 2 |w3xrxn
R TE Y25 L2 o
PR

2 4215 @ 300~ % 4 1 |[#3x2%3
BRGTEL 2 =5 4
PR

3 F s 450 B B o 1 |18~ 25mm# 4& ik

4 | R300 2 % o 1 |asmi

5 < R 4848 400> % 5 1 [F2pEEE 2 i,
H7 -l S

6 [T 500 2> % B 1 |2 dEgEsz e,
7 -l gL

7 A (L) | 6-182 % 5 2 |6-8mmiég s 22z

8 >3 &’ﬁ‘if% G132 % 5 2 |@2-12mm 1 g5

9 |kTgen 0132 % ¢ 1 |@2-12mm* 2 s

10 |plEe)Hs RIER) Bk T HR B 1 |#%#80%) i

11 Lamello #0-20 B 2 |# § #10 54x24x4mméz &

12 |2 ' 1200x600x800mm 3E 21 |FEL-

AL 4 # 110V3HE &

13 # 3 £ BF 4% /Robot 30kg o 1 s - 34

HER:
Kf’f ?i'l’b*ﬁ’f%?{%%"‘7—g‘*iﬁ\£ _%_}gjﬁ’pé%ﬁo

E




i 54

FLEpAHFIEE (- A H)
B LR RE A2 £ 1F% 17T
-~ F2PEER
B x| 1 Bt 2ok 2 0t o+ | E & B # i

1 1 FpR E i+
2 »EE AR pEE ®
3 RS LE S 2
4 BFARR DY AR R ST ?
S r ¥ 7B F

S o EmFLE

#=x - o 2 2 4 | HE = £ % =

1 E° 3002 & (F)m E3
2 i $s ° 22 2 (M) (7)re 2
3 B AR 1502 % (5 )+ %
4 S 1502 % ()4 4
5 PR NN TE W% F sl
6 |47 -] }e
7 I 44 de s dm k- o B
8 5 4 1502 % ¥
9 | * b4 ¥
10 A 45 240 = & o W AR
11 R 2002 & Fo AR I
12 7 3-30> & Pl




13 g 7 3002 % Il 1 [Taez 2R
14 | s#ss 127 % 1

15 £ 7 ﬁ?ﬁ‘i @10~ % o 1 |0 8mm4eer
16 £ %ew) B BT N B B 5 1 A
17 | Fa % 3002 % % 2

18 | £« 8002 % % 4

19 E A 2 6002 % % 4

WL ARERERLARFD APBERT R £ A RITHFT L TR F Heo 4T
(router) 2 & & # %1% (power miter saw) > 1 ¥ 5 & $%90X60 2> & L p o
2L TR (FTME SREEH S LRBE) SR AR 0
R LIFRF 2B G AR CBEABEICE o




% 53 B 2 Wi i F
The 53rd National Skills Competition

2 R A

Marking Scheme

i it 55

B4 24 B A1 i p ¥ Competition |112 # 7 » 14-16 p
Skills 24 Cabinetmaking Date 112/7/14-16
FEEHL iE £ Y%5 Competitor
Competitor Name Number
iR S P B 18 ] p&
Competition Time 18 hours K
FERL Expert Signature
Totle Score
- ~ & #4& fe Score Allocation
A ﬁ'{A\ ]ﬁa
IIEN ARFTFAEP Score Allocation FEAR | AL
Item Judging Criteria £ pzEs L] T Score Note
Measurement| Judgement
B = B
1 LR 19 19
Dimension
) g Wi 5 6
Conforming to Drawing
ST S
3 Face Marking and 5 12 17
Joints before Gluing
ik
4 Joints after Gluing 19 19
R
> Fittings and Assembly 0 8 14
6 5 AR 18 18
Surfaces
e
! Use of Material > >
X DS
8 Health and Safety 2 2
F 18 4%~ Totle Score 43 57 100

10



s 2= £ % Scoring Criteria ( £ ;]34 * Measurement )

I8 PRI fie & A . 224 Judg Score #ir
= Judging Criteria Points | Score | Award 1 | Award 2 | Award 3 | Award 4 Note
4 g Requirement
- q_‘} ’EJ-:E- 19 or Nominal
Dimension Size (Obj Only)
BB R 850mm
. £0.5
! Overall hight 3 +o-omm
BFER 300mm
+0.5
2 Overall depth 3 mm
B R 560mm
. £0.5
3 Leg frames width 3 mm
2R R R 260mm
+0.5
4 Leg frames depth 2 mm
HHEER 400mm .
. 0.5
> Carcase width 2 mm
I+ A& 280mm
6 |Carcase width of 2 +0.5mm
left and right
R EER % % 284mm
7 |Carcase hight from 2 +0.5mm
the ground
3 R iR 250mm N
8 Drawer depth 2 £0.5mm
_ | R E 6
~ |Conforming to Drawing
YIN
! X Leg frames . !
Hrog S Rl 15
Y/N
2 Crossbars of the leg frames .
55 B
3 |f1H 1 YIN
Carcase
4 1= 1 Y/N
Doors
5 | e 1 YIN
Drawer
R
. YIN
0 \eneer design correct 1
e8P
= |Face Marking and 17
Joints before Gluing
W 2E Y/N
1 X %rg 1
X Leg frames
|5 5 P ) YN
Crosshars of the leg frames
e YIN
g |1 1
Carcase
= YIN
4 gofr? 1
. Y/N
5 |1 1
Drawer

11




X #%rig BORFERE
6 X Leg frames guzrflaté)es and fit
YrdE A I GRS B
7 |Crossbars of the leg frames guzrfla%eS and fit
8 |Ccarcase guzrfla%es and fit
i GORT el
9 \Doors guzrfleu(:)es and fit
10 |Drawer Surfaces and fit
3,2,1,0
7 kR4
Fittings and Assembly
Ad 4 D
» FEZ B
1 | 1Y 25 e Correct
Carcase anf leg frames positioning of
wood screws
assembly
Y RNV
BEIFEEE
5 F® f=45 Correct
Doors positioning of
hinges and wood
screws assembly
AR e
FE R
3 Jb F Correct
Drawer positioning of
wood screws
assembly
N
Use of Material
{#H%5- L2,
FoAnigdel A, 3 %
JehH &
Replacing the first buckle
deducts 2 points,
each subsequent buckle
deducts 1 point, up to a
maximum deduction of 5
points.
AR 2
Health and Safety
1%4ﬁ%££
Personal protective safety
FiTE L >
2 |Safe operation of

machinery

12




= ~3®4 % Scoring Criteria ( 2| %r2=4 * Judgement )

573 IR IE P fie & 15 A # |34 Judg Score B i
=X Judging Criteria Points | Score | Award 1| Award 2 | Award 3 | Award 4 Note
L TR 19
Joints after Gluing
X s
! X Leg frames 4
) HroE S Rl 15 3
Crossbars of the leg frames
ki
3 3
Carcase
A
4
Doors 3
10 fp
> Drawer 3
10 fe
6 3
Drawer
BT o
* |Fittings and Assembly
1o 18 2 g %ﬁnfa?ﬁfi
4 2 Fit and finish
Carcase anf leg frames after assembly
e e it
5 D 3 Functionality
00rs after assembly
HEge 1% yph AT
& P e is nFt i
6 E = 3 Functionality
rawer after assembly
NES Y % 18
Surfaces
X %2 3 TR
1 X Leq f Surface, edges,
€g frames and chamfers
A A Rl 3 B g e
2 Surface, edges,
Crossbars of the leg frames and chamfers
VIR l”? g3 /f,'
3 C Surface, edges,
arcase and chamfers
TN 0 I A
Fm %E“’V 3 ™ ,§ = ig‘\ [ J '3'-
4 D Surface, edges,
0ors and chamfers
R 3 DA I
5 D Surface, edges,
rawer and chamfers
o ’ 3 o~ F B E
&N pLAR
6| a Surface, edges,

Veneer design

and chamfers

f./TWSC/53'YNSC 3=4 % _112.7.14-16

13




3.1 | HRTI B3 A

3.2 ASSESSMENT AND MARKING USING JUDGEMENT

Judgement uses a scale of 0-3. To apply the scale with rigour and consistency, judgement must be
conducted using:

benchmarks (criteria) for detailed guidance for each Aspect

the 0-3 scale to indicate:

0: performance below industry standard

1: performance meets industry standard

2: performance meets and, in specific respects, exceeds industry standard

3: performance wholly exceeds industry standard and is judged as excellent

Three Experts will judge each Aspect, with a fourth acting as a judge where required to prevent
compatriot assessment.

Design Measurem |16 and more |(12-15joints= 8-12 joints = 4-7 joints = |0-3 joints =
ent joints = 100% |(75% ofpoints [50% of points 25% of points (0% of points
marking of points

Competitorswill

submitaplanfor the
veneerdesignduring
thefirst
period C1. Count
The Plan should number of
indicate the joints
following:
e Veneer Plan
Layout
e TypeofVeneer
indicated by
LettersA,B,C(See
Samples)
e Direction of Veneer
indicated
by Grain Direction
Symbol (See
Samples)

No piece of veneer on
the plan
can be smaller than 75
sq. cm
3 joints or less,
simple book
4-eidEch

12 - Joints #

[ &

=
=
k3

14



it it 5-6

¥ 53 5 2 R4 R
BARP

BT LA ¢ #24 B A

BEPY CU2ET7 0 14160 (EHI-P)
L A% A S
B AR EAE B PR R R R TR bR
AL ~ 1 TER] -
HaAL oL L /birch ~ #F Fe A fwalunt » Zsadr ~ A 0 AT S 4R S TR fda s
BAB T Ap 2 A LR 4 o
Bl LA L X PR TR X SR FRE T REERE 23 RS
® R o
2. 500 HE - Y RFEE e 2 A /groove joint 3 & o
3.4z ¢ * Ag 2 R £ /glue joint -
Piefr i@ * dda e k> £ 3 B # o
43 et % R - A /groove joint 2 A IR ETE S o
do et F A KRR LG RPRa o
S.fatgr yrde @ @ % AR Sidr K o
g e A Wi AR R IS R et dE 0 B 84 £ RF/Robot
7 B AE) o

15



& 5-7

% 53 & 2 R R
Eiy A2 ]

B AL C 424 RE A £1F%1F

Iy

I

CRFPRE R PR A 0 PORE Y 2 RS BRSO A e 1 R S SR 5]
SR AN R =
~$F£Wﬁﬂﬁ%.ﬁﬁ@%ﬁﬁﬁ%ﬁ%ﬁﬁii%iﬁﬁiﬂM%%$£V§1ﬁi
MEFS IR RAL T NFL2PEEAR  RLIFR T 2RE DA
2ol o

CAEF A AR BALZ2PEEE A PHERAR TR T EESF LA &
%%%ﬁaﬁ w%%#¢xjrlAﬂﬁ%J£rﬁ%@&$@J

v A AL IRE R iw’mﬁﬁﬁﬁﬂﬁﬁiﬁ’L&%ﬁ&%ﬁﬁiﬁiﬁi
iﬁkﬁm’&ﬁﬁiﬁi%ﬂ"W’ﬁ £ =tk Fi%m%%£@£°
CEESRFMAFLT RS ELET B AR F F TR § o 2T F A
CELBRF PELFIIE CTHIEE A FREZPBERF LIPS A GRHRLIE

o

AT EE R - R e 10-20%(F ] E k)
‘-‘Lﬁ;\‘ gﬁ_l-?? , rm}\‘ﬁx I}}ﬁﬁ i}i%\@’?#ﬁ-&rlﬁ___? ’,&}E%‘%i,’f_}_%\}lj{#‘]i‘;’f”e\:ﬁ‘ ’

h
VL
ER S AN S A NN AR X

CEFMP L ARG o i GBI pFEEAK
\izﬁﬁﬁiﬁgﬁﬁ4/pﬁiiiiﬁﬁ’m%?#ﬁﬁ AR B
CERABEEET 22 ST RF ST FRFANAT
—‘ﬁ%&%iﬁiﬁi*ﬂﬁHgiiin¥$%%£i>%iﬁo
CEELERIA A FE A @ F 0 150cm -

SRS S FW@*%W‘WﬁﬁKﬁ%EM£’ﬂ%¥—%7ﬂ47*¢w SR 5
RHEPMETELS 0 5 R T/ID RS R o~ HrE S R P T o S S
ﬂﬁgg,ﬁ%%@ﬁ:

P B /% % REPR | A
7/13(z) | 10:00-11:30 | % = ¢ 3]
11:30-15:30 | 3% 30 - R

1R R H A 4]
e~ RV BEXHE R

VUG [08:30-12:00 81
12:00-13:00 | = i
13:00-17:30 | s p

IBC) [08:30-12:00 8 I
12:00-13:00 | = i
13:00-17:30 | #f

7/16(p) |08:30-10:30 | & f 2|
10:30-12:00 | isfeit § - #215ms
12:00-13:00 | = %

13:00-15:00 i SR SN Y Y

16



} 2
G
o2 II
. b o
— B k¥ k- - =rl
[ =
A A
I | B g
FRE+AHEREREATER + B F
- EH [MEI# b EM | S
[am] FRET| B5@| 1:5 4-16] 18-85

17




